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Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ten questions. Choose the correct alternative from the given alternatives in each
question.

(a)

(b)

(c)

(d

(e)

®

(g

The material cause of all things, according to Thales, is
(i) Water (i1) Soil (i) Air (iv) Fire
‘All in flux.’- This statement was made by

(i) Empedocles (i) Heraclitus  (iil) Protagoras  (iv) Anaxagoras

The names of two atomists are

(i) Leucippus and Democritus (i) Empedocles and Heraclitus
(i) Protagoras and Anaxagoras (iv) None of them
‘Man is the measure of all things’~ This statement was made by

(i) Democritus (i) Protagoras  (iii) Gorgias (iv) Prodicus
According to Plato, the subject matter of highest stage of knowledge is

(i) Sense-experience (i) Form

(iif} Opinion or Belief (iv) Mathematical Knowledge

The total number of causes recognised by Aristotle

(i) Five (ii) Three (iii) Four (iv) None of these
Thomas Aquinas referred to two forms of worldly things —

(i) Existence and Essence (i) Form and Matter

(iii) Natura Naturans and Natura Naturata (iv) None of these
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2.

(h) The philosophical method followed by Descartes is
(i) Deductive method (i) Mathematical method
(iii) Method of doubt (iv) Analytic method
(i) Which philosopher upholds the theory of mind-body interactionism?
(i) Descartes (i) Locke (iii) Spinoza (iv) Leibnitz
() The philosopher believing in Pantheism is
(i) Descartes (i) Spinoza (iii) Leibnitz (iv) None of them
(k) ‘All ideas are innate’— This statement was made by
(i) Plato (i) Descartes  (iii) Spinoza (iv) Leibnitz

(1) The three types of knowledge admitted by Spinoza are

(i) Adventitious, Fictitious and Innate (ii) Opinion, Rational and Intuitive
(i) Reason, Intellect and Faith (iv) None of these
Answer the following questions briefly (any five) : 5%5

(a) What is Nous according to Anaxagoras? Explain briefly.

(b) What is the main contention of Atomism?

(c) Explain, after Empedocles, the four periods of our world of changes.
(d) Discuss the marks of knowledge after Plato.

(e) Explain the ‘third man’ argument of Aristotle.

(f) What, according to Descartes, are the criteria of truth?

(g) Analyse the nature of substance after Spinoza.

(h) Explain the principle of Sufficient Reason of Leibnitz.

Answer the following questions (any two) :

. Explain Aristotle’s Causal Theory. How does Aristotle criticize, with the help of his doctrine of causes,

his predecessors? 10+5

Clearly explain the Cartesian dictum ‘cogito ergo sum’. Is it an inferential truth? Explain. 10+5

. What is an attribute, according to Spinoza? How does he explain the relation between substance and

attributes? _ 3+12

Discuss after Leibnitz the nature of monad. How is the relation among monads possible if monads are
windowless? 10+5



